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For by a 21 he calls it a 2329», etc. - 99327 2297 INTP 212 YW

OVERVIEW

Concerning the 2977 of a 21, the 770 writes®; 221 K> 2177 ¥HY 2977 WK 2377 9
27V TV RADY O°A2 YA 1°7A2 022° ONIN RWIIM .2V7 TV KNAY° 1PNNND 3%57° WX D02 v,
It is evident from the 205 that only when carrying a 2177 2391 do (all) the clothes
(of the carrier) also become Xnv (even if the clothes did not come in contact with
the 2071). However if one (merely) touches the 217 2371 his clothes do not become
Xnv (only the person who touches becomes Xnv).

Concerning the 2177 *2w1 20wn the 770 writes®; YA 1732 0227 120Wn2 ¥3° WK WK
2777 7Y XnvY 0°1»2; indicating that by (merely) touching the 2wy 20wn, the clothes
(also) become Rnv.

Concerning a 721 the 77N writes’; YOV DAWY R°7 WK 937 DY IR R 2OWAT HY XY
27V 7Y XY’ 12 1WAI3; not mentioning 1377 (as opposed to a 21 where 237 is
mentioned). The X713 explains that the term 237 (which implies 0°%37 10°9) is not
appropriate for a woman, therefore the 7710 only uses the term n2w1 not N2a>".

*

— IV INT PN 2V 20

The laws concerning 3w1%Y 359% are not the same -
— 7995 n501 Y921 *D23N9 NN NMNTH D12 DI PV PN 209192 YINT

For one who touches the 2592 is not required to wash his clothes (because they
do not become &nv) as opposed to touching the (7211) 217 2w which requires 0123
0°732, as is evident in 273775 N7 and in the beginning of 2v%> novm.

nvoIn asks:
— AVIN NP NYNIAT 9N 2950 PNYY 199290 NYP RNYM

And now (that we have established that there is a difference 719%7% between 207
and 2v2) the >''1 has a difficulty; how can the X n) state ‘that by an 7wN it is
called 2%’ (in order to prove that one should speak p1 1w22)?

" The 25 refers to something used for riding such as a saddle, etc. (See however 921 71"7 v, Y%7 *"wA.)
Zmyp 0 (VX)) RPN,
3 2w 20w refer to something on which one lies or sits (but is not used for riding).
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— YN N 259 1719 YIY 9IIN IT29N 911D 18 ON
If the intent of the X773 is to say that even a saddle which also has the 1°7 of a

=b=la}} by a woman (that it is not Y312 0722 Xnawvn), nevertheless -
— 25 994 9299 AWM IMIPY 2IN5N NY

The o2 changed the term 257 to call it instead 2w in order to speak

respectfully (even though their laws are different); this cannot be!
— NI NATIN NI RINY*E DIV U 19PY DT

For later the X773 answers the reason it says concerning 7°N17y11 7227 that 7125°9M
D°9137 v (even though it is not a 7122 717, nevertheless) on account of the fear of

falling off the camels it is the custom (even) of women to be o*7237 %y 2517 -
— M0 757 29y PN ROV DN 9290 MIVY NON

It is evident from this answer that we do not write 7125 7972 if this will change

the reality (if indeed under certain circumstances women are 2217, then the 770 uses the word
2517). Here too since 2wy 2271 have different 2°1°7, how can the 770 write 2w (which is Xnon
¥an2 0°732) when in reality it is referring to 2377 (which is not ¥an2 2°732 xnun)?1®

Mmo0IN answers:
— AT RIPT N2 AWIN INIP DYNRI) IWIVD 2INT PN 13939 NN

And the >'"'1 explains that this is the interpretation of 7wWR2Y 2377 X7P 212 AW
2w NP (it does not mean that the 7710 referred to 2577 as 2w, but rather) that

we derive 2277 for a WX through a 1299 that is mentioned in the 102 of 2w -
— 2591 N1 959 AW DT PYY NIV KON TUN “DN NN RPN 5911

For thus it is stated in 2°17> n7In; when the P05 states 9 Naw X7 N this

refers to 2w and when the P09 states 93, this refers to 299%. In this manner -
$a72 995 NYTNA AN XOW NP YDA 990D 2INON 111D

The P05 taught us to speak 7°p1 o3, for the 770 did not write 2071 explicitly

as it did by 27; but rather the 70 (merely) alluded to it with the word *23. The question is
answered; the X713 does not mean that n2wY> which is written by an 7wX refers to 227n, but rather
that in the P05 of nawy the 7N alluded to nwXT 2371 by inserting the word *7317.

SUMMARY
The meaning of 2w XY "WR is that we derive nwRn 257 from the word *%57
which is mentioned in the 7109 of 2wvm.

8 The rule of 7p1 PwWHa 07X 190° 0»WY is not a license to state the facts incorrectly (as evidence from 5y 71259m
0°72371); why then would the 7710 write 2w when it meant 237!
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10 See ‘Overview’.
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THINKING IT OVER
Why is it that by 727 the 09 states 73125°M, and by 727 the 770 chose not to write
257!
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